
■ 次の に 1 から 9 までの 整数 をあてはめて、正しい式を作りましょう。

① 16 － ( ＋ 5) ＝ 6

② 6 × (24 ÷ ) ＝ 18

③ 18 － (4 － ) ＝ 16

④ 9 ＋ (6 － ) ＝ 10

⑤ 15 ÷ 3 × ＝ 15

⑥ (26 － 5) ÷ ＝ 3

⑦ 2 ＋ 8 × ＝ 34

⑧ 97 － 8 × ＝ 25

⑨ 56 ÷ (2 ＋ ) ＝ 8

⑩ 12 ÷ ＋ 2 ＝ 6

⑪ 4 － ＋ 1 ＝ 3

⑫ 6 × (7 ＋ ) ＝ 48

⑬ 10 ÷ (4 － ) ＝ 5

⑭ 3 × － 6 ＝ 3

⑮ 9 ＋ 45 ÷ ＝ 18

⑯ 3 × ( － 2) ＝ 6

⑰ 18 － 9 － ＝ 2

⑱ (2 ＋ 6) × ＝ 64

⑲ 68 － 12 ÷ ＝ 66

⑳ (8 － ) × 4 ＝ 16

㉑ × 4 ＋ 6 ＝ 22

㉒ ＋ 3 － 3 ＝ 2

㉓ (5 ＋ 13) ÷ ＝ 6

㉔ 32 ÷ 8 － ＝ 3
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■ 次の に 1 から 9 までの 整数 をあてはめて、正しい式を作りましょう。

① 16 － ( ＋ 5) ＝ 65

② 6 × (24 ÷ ) ＝ 188

③ 18 － (4 － ) ＝ 162

④ 9 ＋ (6 － ) ＝ 105

⑤ 15 ÷ 3 × ＝ 153

⑥ (26 － 5) ÷ ＝ 37

⑦ 2 ＋ 8 × ＝ 344

⑧ 97 － 8 × ＝ 259

⑨ 56 ÷ (2 ＋ ) ＝ 85

⑩ 12 ÷ ＋ 2 ＝ 63

⑪ 4 － ＋ 1 ＝ 32

⑫ 6 × (7 ＋ ) ＝ 481

⑬ 10 ÷ (4 － ) ＝ 52

⑭ 3 × － 6 ＝ 33

⑮ 9 ＋ 45 ÷ ＝ 185

⑯ 3 × ( － 2) ＝ 64

⑰ 18 － 9 － ＝ 27

⑱ (2 ＋ 6) × ＝ 648

⑲ 68 － 12 ÷ ＝ 666

⑳ (8 － ) × 4 ＝ 164

㉑ × 4 ＋ 6 ＝ 224

㉒ ＋ 3 － 3 ＝ 22

㉓ (5 ＋ 13) ÷ ＝ 63

㉔ 32 ÷ 8 － ＝ 31
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